;1%!%

(=

L-XHAEO X[ B Y-g 2HIE 2X[0t=

B B A1A1) XIg ARI0|2H?

= HQ Ax|HIO| AR

- 0T

i

THH| 7t X o= AP YL

XA A LB

>
T

3

AL
M4

%8

gl mQ

?.

It

0l

2

0 O

=)
_|

==
K4 |

(R 10:00~17:00, = & Al2])
mr ] 716(2) ~ 7.17(=)
HEH S

(D4 10:00~17:00)
2R 7.21(30 ~ 7.24(=)
NEHE

NFEs

(OHE 10:00~17:00)
2 OleiE g

@ ExEaQ

*I

7.27(F) ~ 8.7(3). ~ 18:00
s

21

o

A e

2t32% 3kW O|oto| B 3kw AH| AX| Al, @F 23m2] AX|
DMIHO| WO (117 B TR HAALZ Y 450kWh O] 4!
CHE RS X|QCHAOIA HI2)

A% ofl 4 3

[t R g

- 900022l (3KW 7|X)

x | 2500K), 1] 150921, Boly
-Xga ¥ AxguL T g

unol

3 2oX > =274

,

AZFEHM 2 (m241-7701, 7706)
b g




